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E Take powers of 11 mod 45 to get <ll>. Multiply by k's to get cosets.

(%il) cosets:create list(create list(mod(k*11"i,45),1i,1,6),k,[1,2,4,8]);
(%0l1) [[11,31,26,16,41,11,(22,17,7,32,37,2]1,(44,34,14,19,29,4]1,1[43,23,28, 38,

13,81]

E Take powers of cosets and see which power gets you back inside <11>

' (%i2) create list(create list(mod(cosets[k]”i,45),i,1,4),k,1,4);

| (%2} TITEL; 31,206,036, 4L, I ;13136038 18; 1] 4 126:1.:26,;1,26,78] 136,381,416, 3¢
,111,0[22,17,7,32,37,21,1[34,19,4,34,19,41,(28,8,28,8,28,8]1,131,1,16,31,1,16]
1.,0(44,34,14,19,29,41,([1,31,16,1,31,161,[44,19,44,19,44,191,[1,16,31,1,16,31]
1,1[43,23,28,38,13,8]1,(4,34,19,4,34,19],137,17,37,17,37,17],[16,31,1,16,31,1]

1]
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e B 2 X 0 Q O

7 (%i1)

(%01)
(%02)

? (%i3)
(%03)

? (%id)
(%04)

" (%i5)

(%05)
(%06 )

? (%i7)
(%07)
(%08)
F check
" (%i9)
(%09)

(%010 )
(%011)

rems:[2,1,3];
mods:[3,4,5];
[2,1,3]
[3,4,5]

m:product(mods[i],i,1,3);
60

M:create_list(m/mods[i],i,1,3);
[20,15,12]

create list(mod(M[1],mods[1i]),1,1,3);
Mi:create list(inv mod(%[i],mods[i]}),1i,1,3);
[2,3,2]

|33 ]

sum(M[i]*Mi[i]l*rems[1i].,1,1,3); mod(%,m);
233
53

the answer

Xx:chinese(rems,mods) ;
mod ( x,mods ) ;

%-rems;

53

2,1, 3]

[6,6,0]
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